
Math 3260 Practice - Matrix Algebra

Question 1. Let A =

[
3 3
4 −2

]

(a) Find the product Ax⃗ if x⃗ =

〈
8

9
,
7

9

〉
.

(b) Find rref
(
Â
)

if Â =

[
3 3 5
4 −2 2

]
.

It can be done in about five steps. The punchline is
[
1 0 8

9
0 1 7

9

]
.

(c) Evaluate the product AB if B =
1

18

[
2 3
4 −3

]
.

AB =
1

18

[
3 3
4 −2

] [
2 3
4 −3

]
=

1

18

[
18 0
0 18

]
=

[
1 0
0 1

]

(d) Evaluate By⃗ if y⃗ = ⟨5, 2⟩.

By⃗ =
1

18

[
2 3
4 −3

]
⟨5, 2⟩ = 1

18
⟨2(5) + 3(2), 4(5)− 3(2)⟩ = 1

18
⟨16, 14⟩ =

〈
8

9
,
7

9

〉
.


